H & 0l & AHS B Ml A

S ZARAED
HE: ZOIHOZA KAWL
el ZEUsE NGHE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAIAS= 6,445,604 13,791,604 AT,346,000
= 11,482
[ 4,181,000
= 310,884
Ea 1,942,238
FoEHASY KSNLAS 5,000 28,000 ~23,000
zEUA=s NS 5,000 28,000 A23,000
1= &4l 5,000 28,000 A23,000
301 2eEN= 5,000 8,000 A3,000
14 J|Et2 43 5,000 8,000 A3,000
O=gE+Y +HELN 5,000
AR FOESE— 2,200,543 4,177,836 1,977,293
[ 2,141,000
o 59,543
AHgddigt x4 2,200,543 4,177,836 1,977,293
= 2,141,000
= 59,543
ENEEXF 2,150,543 3,443,836 1,293,293
s 2,141,000
= 9,543
202 04l 1,836 1,836
01 =LHA LI 1,836 1,836
SENEEZAY =8 1,836
401 Al HIZ S OHbI 2,148,707 3,442,000 1,293,293
[ 2,141,000
s 7,707
01 AlZ8| 2,141,000 3,442,000 1,301,000
SR T 2,141,000
[ 2,141,000
03 AIZSTHYI 7,707 0 7,707
OEXEEX T AlESHEI(0.36%) 7,707
AAOILISSEHE2 RdAY 50,000 0 50,000
401 AIEHIZ R HYI 50,000 0 50,000
01 Al&HI 50,000 0 50,000
OEgXIHIIZ HMel 50,000
CAlEE x4 3,951,928 9,138,888 A\5,186,960
[ 2,000,000
= 300,000
o 1,651,928
HHEE AEE &4 3,951,928 9,138,888 /5,186,960
= 2,000,000
& 300,000
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s S TAIEE Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 1,651,928
A2 HE 29 10,120 36,908 N25,788
202 04| 9,420 13,608 N4,188
01 2L AL 9,420 13,608 AN4,188
OZAIAIE S XIZ=A 5,940
O=ZAHEANE 28 54 3,480
203 HR=H] 700 700
03 A=A RN 700 700
OJIEAIEAEAR =X 700
CAITHAEXI 2 HE XIS 3,000 80,000 AT7,000
201 fer23y| 3,000 0 3,000
01 AtR2t2lHI 3,000 0 3,000
OUMZEAIMAXZHE HA+E 3,000
oS TAIHY mEAME 31,460 21,200 10,260
201 et 3| 31,460 16,200 15,260
01 At2t2l] 11,460 16,200 A4,740
OUAGIEHIE Aot 2e|
350,000 * 122 4,200
Ol EHE &J|etd2e|tel
220,000 x 122 2,640
Ol EHE sZootd 2te| T
165,000 «12& 1,980
OULAEHIE RABHIAIAE
220,000 122 2,640
2 35234l 20,000 0 20,000
OldteIEHE 324l 20,000
B TAINY wEAY 2,300,000 2,280,000 20,000
[ 2,000,000
= 300,000
401 Al HIZ R 0HHI 2,300,000 2,202,000 98,000
[ 2,000,000
= 300,000
01 Al&HI 2,300,000 2,202,000 98,000
OFEH TAIMA=EAS 2,300,000
= 2,000,000
=S 300,000
SADIZS X & |X2 22,400 22,400
201 Zet=Ehl 2,400 2,400
02 S3=4gl 2,400 2,400
Ogd&xg dJIes 200,000 x 122 2,400
401 AlZHIZ SO 20,000 20,000
01 A28l 20,000 20,000
CADIZS AAEX 20,000
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CARS & F=0hE JEXT =284| 490,000 150,000 340,000
401 AIZHIZ SO 490,000 150,000 340,000
01 Al&HI 490,000 150,000 340,000
OZAINS 4E8ld o 30,000
FHNLAEN TR =22+ 30,000
Oaxug FIINHHHHES 50,000
OnlattHn B2 S At 250,000
O bt BB ZAb 120,000
OF=dln EB=2LSA 10,000
DI=8X 243 A= 40,000 150,000 110,000
401 Al HIZ S 0HYI 40,000 150,000 110,000
01 A28l 40,000 150,000 A110,000
OEAIHEAIE DI2EX 243 40,000
AEHOISAIE EH 100,000 138,380 238,380
401 AIEHIZL SO 100,000 138,380 A38,380
01 Al&HI 100,000 138,380 /38,380
OXENER RAE% 100,000
AEH0IE2 -5t 32,000 36,000 A4,000
201 er2 3| 32,000 36,000 24,000
01 At2teltl 4,000 8,000 24,000
OS&add 2aaHE
100,000 x102]*40H A 4,000
02 s3=gHl 28,000 28,000 0
O0lztd getad &IIes
500,000& * 122 6,000
O=z8 MHENEE Ity
550& 40,000 22,000
Uats TAINY IFAIY SXI012 ] 300,000 300,000
401 Al HIYL S CHYI 300,000 300,000
01 AlZH| 300,000 300,000
Ollthks A QIFAE S XI0H I 300,000
WAE(AHOIAE) delwE XISE 539,948 0 539,948
402 2I2E X201 & 539,948 539,948
03 2IZHAETAIHHI 539,948 539,948
OUAS(MA0IAE) DA=FE RN SALS 539,948
2E0ISZE SEESAHS(KLIP) SXlI2el 30,000 40,000 10,000
201 er23 | 30,000 40,000 10,000
2 s5=4g4l 30,000 40,000 10,000
O=E0I28dE SEEHSKLIP) SA2e 30,000
AZH TAIMY SaHHAA 53,000 53,000
202 048l 3,000 3,000
01 2L AL 3,000 3,000
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BE: EHBEHM
oRls EsE F=HEdE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 22,964 7,820 15,144
= 11,482
== 5,741
[Ea 5,741
01 AR 2EHSHS(RNEXRTHE) 22,964 7,820 15,144
OTNESSEEE B XN2 ALY 22,964
= 11,482
=S 5,741
s 5,741
AHYANF BIHEHIAEY 57,143 0 57,143
= 40,000
=S 5,143
s 12,000
401 AIEHIZ SR THYI 57,143 0 57,143
[ 40,000
= 5,143
Ea 12,000
01 A28l 57,143 0 57,143
ORIEENESU= 57,143
[ 40,000
= 5,143
= 12,000
HH2LIH(ZAIA=D 30,906 36,630 Nb, 724
JI2ZH(EZAIHAEDL) 30,906 36,630 NDb, 724
JI2ZHI(ZAIHA=D) 30,906 36,630 Nb, 724
201 2egh=3| 25,668 30,852 Ab,184
01 At22t2lt] 25,668 30,852 N5, 184
OPF—st =] 11,340
OJI2=gHl 13,608
O&=I| || 60,0002 * 12 720
202 04| 1,458 1,458
01 =LHOHI 1,458 1,458
OZAA=Y JI2HR2FA 1,458
203 HR=&H] 3,780 4,320 AB40
M EA2ER=AH 3,780 4,320 2540
OZAAFY EA2EHRFH
350,000 * 122 *90% 3,780




